Practice Exam 2
All interps are at the end
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137. 98.4+-0.298, alt: mu not=98.6, 98.6 is in
the C.
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.0359
alt: mu not= 2.65, z=2.33, p=.0099,
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I so fail to reject
alt: mu <7, z=-3.3, p=.0005, reject
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alt: mu < 3103, t= - 8.6, p~0, reject
B
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3.48+-.268 (t* = 1.708)

alt: mu > 75, t = 9.6, p~0, reject

interpretations in terms of the problem:
when reject: sufficient evidence to believe the
true mean __is (State the alt hypot)

when fail to reject: insufficient evidence to

believe the true mean ____is (stat the alt hypot)
confidence intervals: __ % confident the true
mean isbetween __and



